ASSIGNMENT - STATISTICS

Find the mean deviation about the mean for the following data:
1. 7,58,4,13,9, 5 16,18
2. 39,72,48,41,43,55, 60, 45,54, 43
3. 17,20,12,13,15, 16,12, 18,15, 19,12, 11
Find the mean deviation about the median for the following data:
4. 12,5,14,6,11, 13,17, 8, 10
5.4,15,9,7, 19,13, 6, 21,58,25, 11
6. 34,23, 46,37, 40, 28, 32, 50, 35, 44
7. 70,34, 42 78, 65,45,54, 48, 67, 50, 56, 63
Find the mean deviation about the mean for the following data:

8. X 6 12 18 24 30 36
fi 5 4 11 [ 4 [
a9, b 2 5 [ 2] 10 12
i 2 8 10 il 8 5
10. e 3 5 7 Q 11 13
i (=] 8 15 25 8 4
Find the mean deviation about the median for the foll owwing data:
11. x, 15 21 27 30 35
I 3 5 -] 7 a8
12, o, 5 i 9 11 13 15 17
§ 2 4 (5] 8 10 1z 8
13, x, 10 15 20 25 30 35 40 45
F i 7 3 5 5 [>] =] 1 9
Find the mean deviation about the mean for the following data:
14. Mark O0—10 10-20 | 20-30 | 3040 | 40-50 | 50-60
NMumber of students [ 8 14 16 4 2
15. Height (incm) | 95105 |105-115]|115-125 |125—-135 |135-145| 145-155
MNumber of boys 9 16 23 30 12 10
16. Class 3040 | 40-50 | 50—-60 | 60-70 | FO-80 | 8090 [90—100
Frequency 3 i 12 15 8 3 2
Find the mean deviation about the median for the foll owing data:
17. Class 0—10 10—20 20-30 3040 4050 50—60
Frequency 6 7 15 16 kS 2
18. Class 0—10 1020 2030 30—-40 40-50 50—60
Frequency 6 =] 11 18 5 2




ANSWERS

1. 435 2. 82 3. 25 4. 3

5. 5.36 6. 6.5 7. 105 8. 8

9. 23 10. 2.09 11. 5.1 12, 272
13. 10.1 14, 10.24 15 116 16, 11.36
17. 10.16 18. 10.8

1. Fnd the mean, vanance and standard deviabion for the numbers 4, 6, 10, 12,
7,.8,13, 12

2. Find the mean, variance and standard deviation for fArst six odd natural
numbers.

Using short cut method, find the mean, variance and standard deviation for the data:

3. X, 4 8 11 17 20 24 32
fi 3 5 ) 5 4 3 1
4. X, (5] 10 14 18 24 28 0
fi 2 4 7 12 8 4 3
5. X 10 15 18 A 25
f, 3 2 5 8 2
f. X 92 93 97 a8 102 104 109
f, 3 2 3 2 6 3 3
7. Class 0-10 1020 20-30 3040 4050
Frequency | 5 8 15 16 6
B. Class 3040 | 40-50 | 5060 | 6070 | 70-80 | 8090 [90-100
Frequency | 3 7 12 | 15 | s 3 2
a, Class 2535 3545 45-55 5565 A5—75
Frequency 64 132 153 140 51
ANSWERS
1. Mean =9, Variance = 9.25 and SD = 3.04
2. Mean = 6, Variance = 11.67 and SD 3.41
3. Mean = 14, Variance = 45.8 and SD = 6.77
4, Mean = 19, Variance = 43.4 and SD = 6.59
5. Mean = 18, Variamnwe = 17and SD =412
6. Mean = 100, Variance = 29.09 and 5D = 5.30
7. Mean = 27, Variance = 132 and SD = 11.49
8. Mean = 62, Variance = 201 and SD 14.17
9, Mean = 49,67, Variance = 135.44 and SD =11.64



ASSIGNMENT - LINEAR INEQUALITY

1. Fill in the blanks with correct inequality sign (>, <, =, =).

==

Soloe each :Jf the fn:r”n:rudug inequations and represent the solution set on the

number line.

2. 6x =25, where (ijx=N, fiijr=Z.
3.-2x=bh, where (ijx=Z, iy x=R.
d. 3x+8>2, where (ijx=Z, (ii) x =K.
5. bx+2 < 17, where ({)x=Z, (ii) x= K.
6. 3r—4 = x+ 6, where x = K.
7.3 -2v = 4x — 9, where v = K.
8. JI?TS dez_?rwhererER.
o, Z—I—%}- 1, where x = K.
10 l{£x+ 1}':—-1{1:—2} where x = R
=43 —av ’ e
11. 11:151 —IEI < gxi_lywherexeﬂ_
Sx—2 Tx—3
1‘2.}{{’13 }—{ ‘(5 }rhfl"lEl'E.rER_
13. {b; D {314_ 2) 270 herex<R.
ha
Solove
e X—3 _ ; _t—SH -
14. _r_'_.l::l],xc:R 15. t+4-ﬂ,I_R
16. %I:g:}ﬂ,teﬂ 17 ::gzﬂ,teﬂ
'lﬂ.i:»z,xc:R 19, 1 =2 x=R
x—2 ¥—1
20. 2X*8 5 xer 21. 13x— 71 >4, x<R
22 15-2x1=3, x=R 23 dx-5l=L xR
_ 1 1 - lx+2l—x
24. |x|_31§JIZR z X *-._ZI.TFR
Ir—1 _ Ix— 3l B
26. [ Z=L>2,x=R 27. —5>0,x<R
ol o xeR—(-2.2 1~ |, x=R—{-22
Eg.ﬁ-_ L, x=R—{-2, 2] Zg.mr_ SXX=R—(-2,2)
30. Ix+1l+1xl > 3, x = R a1 | 2 |-1,x+4
r—4
Solve the following systems of lincar incgquations:
- 4 a6 33, —11=4x—-3 =
3_.ﬁ_~3_~x+]r1,=—ﬂ 33, —11=4x—-3=13
34. 5x—7 <3(x+3),1-3E =x-4 35 283 7
36. 31—2:»1+4_I:=-3 37. ?'t_l<—3,3x:_5+11{0
3 2 5

as. —12 <4-3L =2 39. 1=Ix—21=3
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. Find all pairs of consecutive odd positive integers, both of which are

smaller than 18 such that their sum is more than 20.

Find all pairs of consecutive even positive integers both of which are larger

than 8 such that their sum is less than 25.

. A company manufactures cassettes. Its cost and revenue functions are
Cix) = 26000 + 30x and R(x)= 43x respectively, where x is the number of
cassettes produced and sold in a week. How many cassettes must be sold
by the company to realise some profit?

. The water acidify in a pool is considered normal when the average pH
reading of three daily measurements is between 8.2 and 8.5. If the first two
pH readings are 8 45 and 8.35, find the range of the pH values for the third
reading that will result in the acidity level being normal.

. A manufacturer has 640 litres of a 8% solution of boric acid. How many
litres of a 2% boric acid solution be added to it so that the boric acid content
in the resulting mixture will be more than 4% but less than 6%?

» How many litres of water will have fo be added to 600 litres of the 45%
solution of acid so that the resulting mixture will contain more than 25%,
but less than 30% acid content?

. To receive grade A in a course one must obtain an average of 90 marks or
more in five papers, each of 100 marks. If Tanvy scored 89, 93, 95 and 91
marks in first four papers, find the minicwim marks that she must score in
the last paper to get grade A in the course.

ANSWERS

i) ()= (H)x (W)= (V)< (vi)x (vil)< (wviid) >
. (1) 11, 2,3, 4

—w 2 4 0
(i) {...,-3,-2,-1,0,1,2,3, 4}

= ]

T

[§5T ]

- (i) {3, 4.5, 6, .}
= SR BN g
(i) (—=2, =2.5)
SR ERE :
25

. i) {-1,0.1,2, 3,4, .}

— -1 0 1 2 i 4 m
(ii) (-2, =)

-

O t t
— 2 4 0 =




5. [i} {2,1,0,-1,-2, ...}
= % 5 o 1 3 =
(ii) (—==, 3)
= 3% =
6. (5, =)
- 1 1 | 1 | 3
— 1] 1 2 3 4 5 L
7. (=0, 2]
== T 2 =
|
o (=3
= : -
2
9, (—e=, —8)
== T S N =
10. (~c<, 5.5]
= REERERT =
11. (0, =o)
:m u [* ]}
12, (4, o=)
== IR =
13. (—==, 2]
== R =
. . _ 3\, (7
4. (-1, 3) 15. (—co, —4) U (3, o=) 16. (—m, EJU{T m}
17. (—== | [= =] ] [ E 1 — i ==}
17. (—oo, )U[7, =) 18. (2, 5) 10. { ,uu[z, )
20. (—oo, 0) U (4, oo) 21. (~oo, 1}u{%f m) 22. [1, 4]
2. E% 24. (—o0, 5] (=3, 3)U[5, =)
25, (~oo,—-2)U(L, =)  26. {%1}u (1, 50) 27. (3,20)
28. [-1, 1]U (—o=, —2) U (2, ==) 20. (-2, -1]U[1, 2)
30, (—oo,—2)U(L, =) 31 (2, 4)U(4, 6) 32. %5:51
33. —2=yxy=4 34— sy =72 35. 44 =-x<28
3&.%{:x{:m 37. —co < x <-21 35.'%“-:1*5:%
39. [-1, 1]U[3, 5] 40, (11,13), (13, 15), (15, 17)
. (10,12) 42. More than 2000 43. Between 7.77 and 8.67

. More than 320 litres and less than 1250 litres
. More than 300 litres but less than 4580 litres d6. 52 marks



